Ch. 4 Review Name:

Date: Period:

Directions: Complete each statement using vocabulary from the chapter.
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J ™
The two congruent sides of an isosceles triangle are the l( 9 S

The two congruent sides of an isosceles triangle form the Vertex ai’li’{l&

If you know the two triangles are congruent, then the corresponding sides and angles of the triangles
are congruent because CPCre

4. The side opposite the right angle of a right triangle is the l ]!,ji )D’h’,[ WS E.

5. The angles of an isosceles triangle that are not the vertex angle are called the ‘?CLSC an 1}‘(5 ;
6. The lﬂ(} 5 are the two sides of a right triangle that are not the hypotenuse.

7. Long:;r yLnt b'\!gbﬂs have congruent corresponding parts.

8. The side of an isosceles triangle that is not a leg is called the baS \

Directions: ADOG = ACAT. Complete the congruence statements.

9. co=_LA 10 b6~ _CT 11, acbo=a_1 CA

Directions: Use the given information to find the indicated values.

12. Given: AWXY = AMNO 13. Given: ACBA = AHKT
Find the values of aand b. Find the values of x and y.
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Directions: Fill in the second triangle and state the theorem to prove the triangles congruent. If the
triangles cannot be proven congruent, write not possible.

14, azyx =ATS[ 15. aace= ADFE 16. aHF6 = DORP by AAS
by AZSA A Y SSS F

7. pqr=DBCED by HL 18 akis= Not Bsible 19. aywx= ABCA by SAS
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Directions: Determine which side or angle is needed to prove the following triangles congruent.
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Directions: Find the missing value.
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26. 27. /\ 28.
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29. 30. Ix + 3L =1¥0

gx = 44
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31, Given: GK bisects ZMGR, GM = GR
Prove: AMGK = ARGK
"o K R
e Statements Reasons

L GK bisects ZmeR L (Given
> G = 7 " Given
Y IMGEK £ ReK Y If biscekd, Hhin A= Ls.
P S G OR LM LR |* Reflexive ok [F A Huak
5 AMGU > ARG 5 SAS (2,34) ce ASA (324)




32. Given: £J = 7L, B is the midpoint of JL

CX
J H

Prove: ATHB = ALCB
Statements Reasons
A LTS L Gven
* B is midpoint of JuL % [iven
> JB=BC B lpm:doom# Hun &= Seqgmanty.
4 /el TL Y8 “ Verteal 45 are 2.
> DIUp > AL > _ASA (1, 3,4)

33. Given: MT LAH, AT=TH
Prove: ZA = Z/H
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Statements Reasons
1. rﬁi_L M il @]u\/(/n
- AT = TH - G ven
S UMTA + LnTH  axe Cight £s Y6 Hun right L5
& LW‘T/\ ~ /L MTH Y 1f mh+ L5, then T
> T Mt > RCH{XIV{
€ Amm > AmvrH ¢ SAS (2,4,5)
T LAELH T CPLTC
34, Given: LR= 4T, RS||VT R = s
Prove: RSz VT m
V " (AT
Statements Reasons
L R /T L Gven
A/ > (aven
3. zagv"zz_swr > F 1 Hen alt. int. Zs are®.
‘s EVS 4 Refleive
5 ARSV S ATVS > AAS (1.3 Y4)
> RS® VT & (PCTC




